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>gpa=read.table("D:gpa.txt",header=T) ##-i= cff k3 » > L L BB BTG &
A Al gde D Di\gpatxt, § oA * > 5 iR RS 0 FR1S BAFRIR mﬁ,‘;%’# ak txt
Fhoo ek &% Sexcel 4 0 BAHH GRS oSV RSk ALK
title &35 > — % & 4c header=T(true), ~ /] Bii & & RAZF L X|¥FeoF S < B
Ff % » header=F(false)

ek ok L

> gpa
ACT major GPA

1 390 0 21
2 3.89 1 14
3 378 0 28
4 254 1 22
5 3.03 0 21
6 3.87 1 31
7 296 1 32
8 3.96 1 27
9 050 1 29
10 3.18 0 26
11 331 0 24
12 354 1 30
13 3.08 1 24
14 3.01 1 24
15 3.25 0 33
16 2.96 1 27
17 352 1 25
18 3.01 0 31
19 295 0 25
20 2.12 1 20
21 2.56 1 24
22 3.36 0 21
23 3.73 1 28
24 3.93 0 27
25 3.56 1 28
26 3.10 0 26
27 242 0 28
28 2.58 1 22
29 3.87 1 26
30 3.06 1 21



31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68

3.93
2.38
2.93
3.38
2.86
3.07
3.38
3.29
3.55
3.65
2.98
2.65
2.54
2.25
2.07
2.62
2.18
2.00
2.95
3.81
2.87
3.35
3.31
2.95
3.55
3.69
3.16
2.19
3.32
3.94
2.92
2.72
3.37
3.61
2.64
2.45
2.66
3.71
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25
16
28
26
22
24
21
30
27
26
26
30
24
26
29
24
31
15
19
18
27
16
27
26
24
30
21
20
30
29
25
23
25
23
30
21
24
32

ERES



69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99

1.81
3.52
3.04
2.97
2.48
2.70
3.92
2.83
3.22
3.08
4.00
3.51
3.32
3.07
2.08
3.88
3.21
2.92
3.35
3.96
3.81
2.51
3.89
2.18
3.43
3.02
3.75
3.83
3.11
2.88
2.75

100 2.31
101 1.84
102 1.58
103 2.88
104 3.59
105 2.91
106 3.72
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18
23
20
23
18
18
29
20
23
26
28
34
20
20
26
32
25
27
27
29
19
21
24
27
25
18
29
24
27
21
19
18
25
18
20
32
24
35

ERES



ERES

107 2.80 1 25
108 3.62 1 28
109 3.79 1 28
110 2.87 1 25
111 3.42 0 22
112 3.60 0 30
113 2.39 1 20
114 2.29 1 20
1151.49 0 31
116 3.89 1 20
117 3.80 0 29
118 3.91 1 28
119 1.86 1 16
120 2.95 0 28

B )+ ¢ 3 = i variables - ACT, major, GPA, % R ® &% 5 gpa$ACT,

gpa$major, gpa$GPA. 4o 7 {8 =t FRiz R+ =x »¥ ¢ variable » ¥ 14 e

>Attach(gpa) #+* = gpa, % # ® & £ = variable

>ACT

>major

>GPA#+4 ¢ 4 data

ttest x5 6|3+ » ARHEY — j&

> x=GPA[major==0]

> y=GPA[major==1] #indicator variable ‘%ljﬁig?] » 2 1 variables x,y

> t.test(x,y,var.equal=TRUE) #ii:z variance = % double variables =t test

ttest HHAE % 5

t.test(x, y = NULL, alternative = c(*"two.sided", "less", "greater™), mu = 0, paired

= FALSE, var.equal = FALSE, conf.level = 0.95)

3T E G IR 0 FEK 5 single variable, H, % two.sided, mean=0, # &_paired,

variance ¥_7# 4p & » #adl ki 0.95 o confidence interval, 58 )% % 4o
Two Sample t-test

data: xandy
t =1.0079, df = 118, p-value = 0.3156
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
-0.8321791 2.5574538
sample estimates:
mean of x mean of y
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25.28571 24.42308



